3

1

107 10,000

2) V25 =5453=125

3)

4)

7)

8)

9)

131 =13

16 =4 43=64

A3/3=Al or A

31/2. 33 =372

X5/6 . X3/6 = X8/6 = X4/3

22/6 . 23/6 . D7/6 = 212/6 =2 =4

10) 2000 22105 4y,

11)

2 4% 2in.  12in. x 12in.

1 w T L w

56 in.3

12) T4yed 3t 3ft 3
1 1yd. ~ 1yd /.‘

= 378 ft3

13) (5A + 5B)(5A + 5B
25A2 + 50AB 5B2

Y2 -X2Y - XY2-Y3=

AX2 + 10X + 6

6+Y=2X = Y-2X=-6
-3(Y-2X=-6) = -3Y+6X=18

3Y-4X= 2
-3Y + 6X = 18 6+Y=2(10)
2X =20 6+Y=20
X=10 Y =14
(10, 14)

586,400412 _ 27,878,400 ft.2
1 1"

= 16,347,893,760,000 ft.2

17)

18) . 18347,893,760,000 + 6,000,000,000 =
2,R4.6 ft.2

19) 100 x 108x 50 = 500,000 ft.3
500,000 x 62 = 3,000,000 Ibs.

31,000,000 Jb 1ton
1 2000 tes.

20)

= 15,500tons

32A

1) 5x 108

2) 3.56x108
3) 5.48x 107
4) 9.6x104
5) 4.68x 10-3
6) 9.13x 108

7) =1.2x1012
(1.9 x 105)(6 x 108)
(1.9x6)(105 x 106) = 11.4 x 1011 =
1x1012 v

8) =8x1014
(1.815 x 105)(4.16 x 109)
(1.815 x 4.16)(105 x 109) = 7.5504 x 1014 =
755x1014

9) ~3x1013
(8.6 x 105)(3.64 x 107)
(8.6 x3.64)(105 x 107) = 31.304 x 1012 =
3.1304x 1013 =3.1x 1013 v

10) =8x105
(8.5 x 10°5)(9 x 109)
(8.5x9)(10-5 x 109) = 76.5 x 104 =
7.65x105=8x105

1) =5x10!
(9.3 x 104)(5 x 104)
(9.3 x5)(104 x 104) =46.5x 100 =
465x101 =5x107 ¢

12) ~8x107
(2.1 x 10-3)(3.50 x 10-4)
(2.1 x3.50)(103x 104) =7.35x 107 =
74x107 ¢

13) =1x104
(5.6 x 105) = (4 x 109)
(5.6 +4)(105 + 109) = 1.4 x 104 =
1x104 v

14) =4
(9.8 x 106) + (2.45 x 106)
(9.8 +2.45)(106 = 106) = 4.0 x 100 =
40 v

15) =3x 10
(36x103) + (1.2x 102 .
(36+1.2)(103+102) =3.0x 101 v

32B

P
1) 6x 105
2) 8.54x 108
3) 6.28x 107
4) 95x105
5) 5.28x 103
6) 9.21x 107

7) =9x 1011
(1.8 x 105)(5 x 108)
(1.8x5)(105 x 106) = 9.0 x 1011 =
9x1011 v

8) ~3x1012
(9.15 x 105)(3 x 108)
(9.15 x 3)(105 x 108) = 27.45 x 1011 =
3x1012 v

9) =4x1012

(9.6 x 104)(4.36 x 107)

(9.6 x 4.36)(104 x 107) = 41.856 x 1011 =
4.1856 x 1012 ~4.2x 1012

10) =7x 105
(7.5 x 10-5)(9 x 109)
(7.5x 9)(105x 109) = 67.5x 104 =
6.75x105=7x105

11) =5x 100
(7.9 x 105)(6.25 x 104)
(7.9x 6.25)(105 x 104) = 49.375 x 10-1 =
4.9375x100=4.9x 100 or 4.9 v

12) =1x1010
(3.1 x 104)(4 x 10°7)
3.1 x4)(104x 107) = 124 x 1011 =
1.24x1010=1x10-10

13) =1x103
(5.2 x 104) = (4 x 107)
(5.2 + 4)(10% + 107) = 1.3x 103 =
1x103

14) =~4x104
(2.4 x 107) = (6 x 1010)
(2.4 +6)(107 +1010) = 4 x 103 =
4x104

15) =~5x 102
(3.5 x 10-4) + (7 x 10-3)
(8.5 +7)(104 = 10-3) = 5 x 101
5x10-2 v

gce - 31€ suolinjos



32C

1)

3

~

4

=

5

~

14)

7 x 105
7.6x103
~ 40,000,000,000 or 4 x 1010
(5 x 103)(8 x 106)
(5% 8)(108 x 106).= 40 x 109
4 x 1010 (significant digits correct)
check with calculator
=500 or 5x 102
(6.13x 104) + (1.2 x 10?)
(6.13 +1.2)(104 +102) =5.108 x 102
5.1 x 102 (significant digits correct)
check with calculator
(103)2/3 =102
102 102 - 103= 101 or 10
(23)2/3 = 22
22.22 =p4=16
1013 . 103 - 10-1= 10773
A10/2 . A-1/2 . A-3/2 — A3

15) 10 Jefi 1 mi.

—— = 6.21 miles
1T X 161
16) @1 X %‘E'- = 2.6250z.

\

17) (83X - 8Y)(3X - 3Y)
9X2 - 18 XY + 9Y2

18) X3 -X2Y + 4XY2 + X2Y - 4XY2 + Y =
"X34Y3

19) X2 +4X +5X+20=0
X24+9X+20=0

(X+4)(X+5)=0 '
X=-4, X=-5

-4(-4 + 4) + 5(-4) + 3=-17
0+(-20) +3=-17
A7 =-17

-5(-5 + 4) + 5(-5) + 3=-17
-5(-1) + (-25) + 3 =-17
5-25+3=-17

17 =-17

20) X(2X-9)=0
X=0, X=9/2

L}
O OO0 OO

0)N2(0)-9]
0

(9/2)[ 2(9/2) -9
9/2(9 - 9)

9/2(0)

0

I

32D

1)

3

=

7

9)

10)

11)

5.86 x 108

5.95x 104

=126 or 1.26x 102
(1.8 x 104)(7.2 x 10-9)

(1.8x7.2)(104 x 10-3) = 12.96 x 101

1.296 x 102 with significant digits 1.3 x 102

check with calculator

~4800 or 4.8x 103
(1.45 x 106) = (2.9 x 102)

(1.45 + 2.9)(108 = 102) = .5 x 10

5.0 x 103 (significant digits correct)

check with calculator

52.50.52=50 =1

33.33.31=37

2650 1.6km
1 1.

= 41.6 km

19)

20)

14) —01501 % —'O?f;z' = 1750z

15) D3 +5D2 + 25D - 5D2 - 25D - 125 =
D3-125

16) A2-AT +T2

17) X(5X-10)=0

o
I 1
OO0 0O OO

(205(2)-10]
2(10 - 10)
2(0)

0

18) X2 +7X-60=0
(X+12)(X-5)=0
X=-12, X=5

(-12)2 + 7(-12) - 18 = 42
144-84-18 =42
42 = 42

(5)2 +7(5)- 18 =42

25 +35-18 =42
42 = 42

10N+ 2(N +2) - 4(N + 4) + 8 =3(N + 4) - 11

1ON+2N+4-4N-16+8=3N+12- 11

8N-4=3N+1
5N =5
N=1 1,3,5

.10D + .05N = 1.35 D+N=16
10D + 5N =135
-5D - 5N = -80
5D = 55 (1) +N=16
D=1 N=5

ace - 0ge suonnjog



32E

1)

2)

4)

6)

7)

10)

11)

12)

13)

2.38 x 107
1.12x 107

~ 600,000 or 6 x 105
(9.2 x 10°")(6.4 x 105)

(9.2 x 6.4)(10-1 x 105) =58.88 x 104
5.888 x 105 with significant digits 5.9 x 105
check with calculator

~100 or 1x 102
(4 x10°1)2.5x 10-1) + (1 x 10°9)

(4x25+1)(101x 101+ 108) = 10 x 10!
1 x 102 (significant digits correct)

check with calculator

A9H2 . A16/12 = Azs/wz

31.32.34=37

1006 TAyds. _ 40
T T S

14) 2 . Lo8 gts.
1 1if

= 212 gts.

15

~

(X-B)(X +B)

16) 4X(X4 - 81)
4X(X2 - 9)(X2 + 9)
4X(X - B)(X + 3)(X2 + 9)

17) X2 +X-72=0
(X+9)(X-8)=0
X=-9, X=8
(-9)2 + (-9) - 12= 60

81-9-12=60
60 = 60

(8)2 +(8) - 12= 60
64+8-12=60
60 = 60

18) (2-A)2+A)=0
A=2 A=-2

4-(-22 =0
4-4=0
4-(22 =0
4-4=0

9.5x 106 2 5.28 x 103 ft.

5.28 x 108 ft.

19) I A ™ |

' = 265x1012=265x 10" sq. ft.
with significant digits 2.6 x 1014 sq. ft. or

2.7 x 1014 sq. ft. depending on when
rounding was done.

20) (2.65x 1014 sq. ft.) + (6 x 109 people) =
(2.65 +6)(1014 =109) = .44 x 105 =
4.4 x 104 sq. ft. per person

1 acre = 4.4 x 104 sq. ft. so 1 acre per person

1) 33 7) 5x72+6x 71
5(49) + 6(7) +
245 + 42 + 3 290

Nlmoo n
O|I\JI\J N

22223
2) 52 = 25
3 1 4x51 +1x50
=38 J Slg aegl+ 4(5) +1(1) =
5 0 +20+1 =121
3105
3) 43 =64
1 1
64 gg 16‘12 9) 2x33+1x32+2x31 +1x30
16 0 2(27) +1(9) + 2(3) + 1(1) =
54+9+6+1=70
11004
4) 62 =36
2 4 4
36/100 6|28 114
72 24 4
58 2 o 10) 83x53+4x52+2x51 +1x50
» 3(125) + 4(25) + 2(5) + 1(1) =
c 375+ 100 + 10 + 1 = 486
5) 83 =512
512|135
102
32
2510g
6) 64 = 1296

12) 11x(13)2+ 8 x (13)Q+ 1 x (13)0
11(169) + 8(13) + 1(1
1859 + 104 + 1 = 1964

Problem in Student Text was rewritt
This is a solution for E8113 =

after first printing.
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1) \pA+3+8A-4=9+3-1
(-5A\ BA) + (3-4) =11

3A +(-1) =11
+1 +1

1 =12 aA-y4
3

Check: -5(4) + 8(4)-4=9+3-1
20 +3\32-4=9+3-1

11 =11
Checks for #2 - #14 will Yot be shown.

2) 3B-B+7+4B=43

6B +7 =43
7 7

B8 =36 N=6

6 6

3) 4Y-6+7Y+3+Y=17
4Y « 8 =17
+3 +3
A =20 y_g
4 4

4) 5Q+3Q-6+2Q=(2+3)+9

10Q-6=14
+6 +6
10Q =20 qg.p
10 10
5) 6K-5+4K-K+2=12-2
9K-3=24
+3 +3
oK =27 [ s
9 9
6) 5C-2C-8+7-C=4-4+1
2C - 1413
+g +1
2 =14 cav
2
7) 4A+6 F2A +12
4A -2/=12-6
f-6
2 2 A=3

8) 10B-2B+3=5B+21

8B-5B=21-3
3B =18 B=6
3 3
9) 6C-8+3C=7F-2C +12
9C-5C =42 +8
= L C=5
4 4
10) gD-10=-2D-34
6D + 2D = -34 + 10
8D =-24 D =-3
8 8
11) -3A-3-6A+10A+5=10
A+2=10
-2 -2
A =8 A=8
) 5B-B+4+10B-7=7"11
4B-3=77
+3 +3
4B =80 g_g
4 4
13) -4R+7R\3+5R=102-7
8R=100-7+3
8R = 96
e R= 12
8
14) -7Q+8-6+5Q=395-7
2Q+2=8
-2 -2
20 =6 Q=-3
2 g

3B

1) -8A-5+4A-6+2A=19

3A-11=19

+11+11
34 =30 Aoniig
3 3

Check: -3(10) - 5 + 4(10) - 6 + 2(10) =19
-30-5+40-6+20=19
19=19

Checks for #2 - #14 will not be shown.

2) 8B-6+5B-3-3B=41
10B-9 =41

+9 +9

10B =50

10 10

3) -5Y+3-6Y+2Y+4=13
9Y +7 =13

-7 -7

-9Y = 6

9 9

4) 8Q-Q+7-4-3Q=7+4x10

6) 7C-4C+5-8+C=52+4
4C-3=29
+3 +3
4C =82 C=8
4 4

7) 11A-4A-18=2A+A+10
7A-3A =10+ 18
4A=28
4 4 A=7

Y=-2/3

9)

10)

12)

13)

14)

2B -10B-15+5=8B-40- 4B -
-8B - 10 = 4B - 46
-8B -4B =- 46 + 10
A28 =36

B=3
-12 -12
3C-6+2C=10C-2C +6
5C-6=8C+6
5C-8C=6+6
-3C =12 C=-4
-3 -3
2D-8-5D=-3D-2D +6
-3D-8=-5D+6
3D +5D=6+8
D =14
2 2 D=7
8K-6+3K-2K+3=4x33
9K-3=132
+3 +3
9K =135 K=15
9 9

B+B+B+6=6B+5-2B+9
3B+6=4B + 14
6-14=4B-3B

-8 =B B=-8

2C+12=2C-6+6C-12
2C+12=8C-18
-2C-8C=-18-12

40C = 80

-10 -10 C=3

10X-3X-9+3-X=51+3+1
6X-6=18
+6 +6
X =24

X=4
6 6
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